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O0<PV<=5: with and without L1 correction
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5<PV<=10: with and without L1 correction
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PV>10: with and without L1 correction
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Ratio:(5<PV<=10)/(0<PV<=5) (JEC: L2L3)
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Ratio:(5<PV<=10)/(0<PV<=5) (JEC: L1FastL2L3)
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If you flip back and forth, slide 5 & 6 — you see applying L1Fast correction reduces
the fluctuation (more closer to 1). A zoomed plot shows it better.
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Ratio:(PV>10)/(0<PV<=5) (JEC: L2L3)
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Ratio:(PV>10)/(0<PV<=5) (JEC: L1FastL2L3)
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If you flip back and forth, slide 7 & 8 — you see applying L1Fast correction reduces
the fluctuation (more closer to 1). A zoomed plot shows it better.
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